TBREMADRAAR SHEIBRBBE
TR £ =i 2 ES 3 1TIRE £ =] E:] S =
FEAHT 1,496 742 754 623 SEFFRET 570 296 274 311
JUHT 2387 | 1,168 | 1,219 | 1,032 BT 257 122 135 100
FUZERT 630 280 350 309 = AR I ET 2370 | 1,155 | 1215 971
BRAHET 1,820 893 927 878 & |/KEHET 167 81 86 66
DIFT B 410 198 212 205 B |SREET 314 137 177 132
B |5 RET 1,804 940 864 845 i |RET 1,452 725 727 621
#H | EARET 1,133 582 551 508 B g5 714 354 360 330
# (= mEr 260 132 128 131 S s BT 294 138 156 118
B (m=mr 806 393 413 381 FeHET 811 373 438 397
A EHET 301 125 176 138 NG 489 234 255 240
REEE 154 76 78 63 B LR 2920 | 1404 | 1516 | 1211
TRET 82 36 46 56 E=3%:) 704 357 347 369
BXAES 118 48 70 59 4 [ ET 319 153 166 132
ekl 514 200 314 238 LSRR T 1,295 627 668 595
ES:) 1,385 668 717 647 % Faor FLHET 289 136 153 113
i | A SAEET 3365 | 1629 | 1736 | 1,487 X |\LERET 189 91 98 83
i |hRx 3756 | 1,800 | 1,956 | 1,649 R EHE 1,496 694 802 634
| 5 AT 1,039 459 580 468 EHET 1,432 705 727 575
B |y 3112 | 1528 | 1584 | 1,380 ILAHET 552 251 301 241
H ST 341 165 176 158 —ARRX 485 225 260 202
HACHTET 319 158 161 140 IEHET 528 248 280 212
A4 _E#T 144 74 70 57 PN g2k TG ) 176 126 50 116
B | o1 BT 1664 833 831 794 A T=P P 900 | 444 | 456 | 295
g HANETEER 120 54 66 57 £ AT 3237 | 1629| 1,608 | 1,498
R |ERXEH 590 284 306 275 P ETHT 337 184 153 234
H X ARET 1,349 675 674 578 + EHFTET 167 83 84 74
FiS=1:l) 553 265 288 218 i‘i T 2289 | 1,095 | 1,194 962
0 gk FH T 844 371 473 360 X |AiTEET 267 113 154 129
EIEE 108 44 64 45 75 T 912 441 471 377
f( iiiladiin) 238 107 131 104 E 1)) 943 462 481 409
B MEMNEERER 3,271 1,570 | 1,701 1,292 HESUHET 1,304 632 672 406
i [FREAEHRRR [ 2565 | 1275| 1,290 904 T ErHET 496 233 263 237
E [fFENEFERX 1,153 562 591 393 =4-1:) 282 135 147 113
BT 1,342 639 703 559 BEEEAS 162 82 80 74
EAHHET 2,091 1,012 | 1,079 915
 |SHEE 1,480 732 748 660 KOMREITHRIERENRGDIENHEHDT. ADFIC
E | HEMt 369 181 188 159 EENHYET,
M |47 A% BT 401 192 209 160
B |y 49 24 25 25
R FHET 447 188 259 246
WX 272 125 147 118




